

INSTITUTE OF LEGAL STUDIES

Ranchi University



R.U. New Campus, Morabadi, Ranchi - 834008

Letter No.: I. L. S. / 1115 / 2025

Date: 29/05/2025...

अल्पावधि निविदा सूचना

एतत् द्वारा सूचना संख्या ILS/2025/01, दिनांक 29.05.2025 के द्वारा आई०एल०एस० कैम्पस में पार्किंग हेतु निविदा के लिए सूचित किया जाता है कि योग्य एवं इच्छुक फर्म अपना उद्धरण निदेशक, आई०एल०एस०, मोराबादी कैम्पस, राँची के नाम पर निदेशक कार्यालय में दिनांक 09.06.2025 को समय 02:00 बजे अपराहण तक तकनीकी एवं वित्तीय दो अलग—अलग मुहरबंद लिफाफा में जमा करें।

नोट :- उद्धरण दिनांक 09.06.2025 को समय 02:30 बजे अपराहृण निदेशक आई०एल०एस० कार्यालय में खोला जाएगा।

शर्ते :-

- 1. फर्म, जिनका फर्म व्यापारिक टैक्स, इनकम टैक्स एवं जी०एस०टी० कार्यालय से पंजीकृत होगा वही इस निविदा के लिए योग्य माने जायेंगे।
- 2. फर्म अपना आधार कार्ड एवं पैन कार्ड की छायाप्रति स्वः अभिप्रमाणित कर उद्धरण के साथ संलग्न करेगें।
- 3. क्रय समिति आई०एल०एस० को यह अधिकार है कि निविदा का निरस्तीकरण बिना कोई कारण बताये किसी भी समय रद्द किया जा सकता है।
- 4. फर्म द्वारा 3% EMD के रूप में "B-1, Institute of Legal Studies" के नाम पर बैंक ड्राफ्ट उपलब्ध कराना अनिवार्य है।
- 5. Institute द्वारा चयनित कमीटी के सदस्यों द्वारा संतुष्ट होने पर ही पूर्ण भुगतान किया जाएगा।
- 6. काम में उपयोग होने वाले सामग्री उत्तम गुणवत्ता वाले एवं ISI Mark या सरकारी मानकों के आधार के अनुसार ही होना चाहिए।

Syloc

डॉ॰ मयंक मिश्रा) २१ ०५

ਵੱਖਣੀ ਟਬੂਲ ਪੰਜਾਬੀ ਵਿੱਚੀਜ਼ਤ ਪ੍ਰੀਜ਼ੀ ਬਿੰਗਰਿਤੀਮੂਸਤ ਕਰਾਜ਼ਤ 34000

Website: ranchiuniversity.ac.in, E-mail ID: ilsranchi834008@gmail.com, Phone No.: 0651-2912011



PROJECT:-

COST ESTIMATION OF

PARKING AT THE CAMPUS OF

INSTITUTE OF LEGAL STUDIES,

RANCHI UNIVERSITY
RANCHI, JHARKHAND



SITE LOCATION OF 2-W PARKING AT THE CAMPUS OF

INSTITUTE OF LEGAL STUDIES, RANCHI UNIVERSITY- RANCHI, JHARKHAND

COS	COST ESTIMATION OF TWO WHEELER PARKING AT THE CAMPUS OF INSTITUTE OF LEGAL STUDIES, RANCHI UNIVERSITY - RANCHI, JHARKHAND								
S. No.	ITEMS	Nos.	L	В	D	QTY	Unit	Rate	Amount
1	Clearing grass and remove of rubish upto a distance of 50 M outer the periphery of the area.					0.05	Нес	₹ 19,760	₹ 988
2	Dismantaling Pucca brick or lime work including stacking servicable material in countable stack within 15 M lead and disposal of unservicable materials with all leads all complete as per direction of E/I.								
	Parking-1	1	6.10	1.83	0.20	2.23	Cum.		
	Parking-2		4.57	1.83	0.20	1.67	Cum.		
						3.91	Cum.	₹ 542	₹ 2,116
3	Earthwork in excavation in foundation trenches in ordinary soil (vide classification of soil item-A) and disposal of excavated earth as obtained to a distance upto 50 M. including all lifts, levelling, ramming the foudation trenches, removing roots of trees, shrubs all complete as per approved design, building specification and direction of E/I.								
	Parking-1	1	6.10	1.83	0.20	2.23	Cum.		
_	Parking-2	1	4.57	1.83	0,20	1.67	Cum.		
	J					3.91	Cum.	₹ 152	₹ 593

S. No.	ITEMS	Nos.	L	В	D	QTY	Unit	Rate	Amount
4	Earthwork in excavation in foundation trenches in ordinary soil (vide classification of soil item-A) and disposal of excavated earth as obtained to a distance upto 50 M. including all lifts, levelling, ramming the foundation trenches, removing roots of trees, shrubs all complete as per approved design, building specification and direction of E/I.								
	MS Poles	22	0.30	0.30	0.60	1.19	Cum.	₹ 153	₹ 182
5	Providing coarse clean sand in filling in foundation trenches or in plinth including ramming and watering in layers not exceeding 150mm thick with all leads and lifts including' cost of all materials, labour, royalty and taxes all complete as per building specification and direction of E/I (Mode of measurement complacted volume).	22	0.30	0.30	0.10	0.20	Cum.	₹ 590	₹117
6	Providing and laying in position cement of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:3:6 (1 cement : 3 coarse sand (zone-III) :6 grade stone aggregate 40 mm nominal size)	22	0.30	0.30	0.50	0.99	Cum,	₹ 4,027	₹ 3,987

S.	ITEMS							7	(+
No.	ITEMS	Nos.	L	В	D	QTY	Unit	Rate	Amount
7	Providing and laying 60 mm thick factory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50 mm thick compacted bed of coarse sand, filling the joints with line sand etc. all complete as per the direction of E/I.					52.00	Sq.M.	₹ 972	₹ 50,544
8	Labour for fitting and fixing G.C.I or C.A. sheet roofing in NAM proper slope including the cost of "J" or "L" hooks, limpet and bitumen washers, carriage of sheets to work site, and taxes all complete as per building specification and direction of E/I.	1				116.0	Sq.M.	₹ 162	₹ 18,734
9	G.C.I Sheet thickness in mm (i) 0.80	52				52.00	Pcs	₹ 1,000	₹ 52,000
10	MS Poles (40 mm dia x 6 m length)	11				11.00	Pcs	₹ 1,750	₹ 19,250
11	Square Pipe (20 mm Sq. x 6 m length)	20				20.00	Pcs	₹ 760	₹ 15,200
12	Abstract cost of Civil Work								₹ 1,63,710
13	Add 18% GST on Estimated Amount				CALLO.	KUN nginee	AR		₹ 29,468
14	Labour Cess @ 1% of Estimated Amount			AK -AIME	Civil F (IEI), (nginee Chartere 00950	g Engg.		₹ 1,637
15	TOTAL			7	ANIS	K			₹ 1,94,815
16	Grand Total								₹ 1,94,820